PARTS EXPLOSION

CABINET ASSEMBLY

NOTE: Please reference the Manufacturer’s Part
Number when calling for Replacement Parts.
For Parts under Warranty, the Serial Number of
your machine is required.

16



PARTS EXPLOSION

MOTOR & BLOWER ASSEMBLY

=

NOTE: Please reference the Manufacturer’s Part
Number when calling for Replacement Parts.
For Parts under Warranty, the Serial Number of

your machine is required.

CONTROL PANEL ASSEMBLY

17



PARTS LIST

Key No.

[N T N ) 0 [ WS N G G U W W G Gy
N=OOVONOUIRWN2OOONOOPRLWN =

WNINMNONINNN
QOWONOOIA~W

WWWwWw
ArWON—

B D D ol o o D g S X SO N OO N o N 00
OCONOUTRWN—=2OWOONOO

oo,
WN—=O

Description

Cross Recessed Countersunk Head Screw M6x20

Switch
Flat Washer
Spring Washer

Cross Recessed Countersunk Head Screw M4X10

Hex Nut
S(prin Washer
Flat Washer

CrossRecessed Countersunk Head Screw M5x16

Mount ed Plate

Air Blower

Hand Ring

Hex Nut with Flange M6
Hook Screw

Key Chain

Lifting Chain

S-Hook

Cross Recessed Countersunk Head Screw M6X16

Frame
Handle
Protective Screening
Big Washer
Cross Recessed Pan Head Tapping Screw
Plate Filter
Bag Filter
Filter Block Slice
el

elf-Plugging Rivet
Rubber %?ug
Panel Component
Fixed Plate
Locking Washer
Cross Recessed Pan Head Tapping Screw
Capacitor
Remote Control
Rubber Bushing
Electrical Box
Circuit Board
Electrical Installation Board
Wire Clip
Fuse Holder
Fuse
Three - Wire Plug Cable
Cross Recessed Pan Head Tapping Screw
Ventilating Ring
Left Turbine Cap
Left Turbine Wheel
Blower Housing
Hex socket button head screw M6X10
Spring washer

otor 120v
Right Turbine Wheel
Right Turbine Cap

18

QTY

1

MFG. PART NO.

P62-450-1
P62-450-2
P62-450-3
P62-450-4
P62-450-5
P62-450-6
P62-450-7
P62-450-8
P62-450-9
P62-450-10
P62-450-11
P62-450-12
P62-450-13
P62-450-14
P62-450-15
P62-450-16
P62-450-17
P62-450-18
P62-450-19
P62-450-20
P62-450-21
P62-450-22
P62-450-23
P62-450-24
P62-450-25
P62-450-26
P62-450-27
P62-450-28
P62-450-29
P62-450-30
P62-450-31
P62-450-32
P62-450-33
P62-450-34
P62-450-35
P62-450-36
P62-450-37
P62-450-38
P62-450-39
P62-450-40
P62-450-41
P62-450-42
P62-450-43
P62-450-44
P62-450-45
P62-450-46
P62-450-47
P62-450-48
P62-450-49
P62-450-50
P62-450-51
P62-450-52
P62-450-53



